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Grammar

1 Complete the sentences with the present perfect form of the verbs in brackets.

1 The mail (arrive)! There's a letter for you!

2 She (finish) her exams, so we're going out to celebrate.
31 (lose) my keys! | can't find them anywhere.

4 They (write) to them three times, but there's still no reply.
5 Someone (drink) my coffee! Now I'll have to make more!
Mark: /5

2 Put the words in the correct order.
1 news/have/we/the/ heard / just

2 stopped / has/ it/ raining / just
3 lunch/had/just/1/have
4 just/garden/the /they/into / have / gone

5 reading / Kathy / just/ finished / has / magazine / the

Mark: _ /5

Vocabulary

3 Which word does not belong in each group?

We need a ticket to use this: bus / train / motorbike

We wait for this at a station: helicopter / train / coach
This transport has only two wheels: bike / lorry / scooter

We can fly in one of these: plane / helicapter / van
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We cross the sea in one of these: boat / tram / ship
Mark: __ /5

Total: __ /15
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